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Question Paper comprises of five Sections - A,B,C, D and E. There are 35 questions
and all are compulsory.

Section-A Question No. 1-20 are very short answer-type questions, carrying 1 mark each.
Section-B Question No. 21 to 27 are short answer-type questions, carrying 3 mark
each. Answer to each question should not exceed 80 words.

Section-C Question No. 28 and 29 are source-based questions, carrying 4 marks each.
Section-D Question No. 30 to 34 are long answer type questions, carrying 5 marks each.
Section-E Question No. 35 map based carrying 6 marks with two parts 35 (A) from
Geography (4marks) and 35 (B) from History (2marks)

Answer should be brief and to the point. The word limit will be adhered to as far as
possible. in a few questions. Only one choice in such questions is to be answered.
There is no overall choice in the question paper. However, internal choice has been
provided in a few questions. Only one choice in such questions is to be answered.
Attach Map along with your answer book. -

In addition to this separate instructions are given with each section and question,

wherever necessary.
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Q1.

Q2.

Qs.

Q4

Section -A (@S &)

Explain the meaning of ‘conservation of resources.’

WAl & WAREvT F7 e W BT |

Identify the Incorrect statement regarding the non-renewable resources
from the following options:

- (@) Metallic ores are recyclable

(b) Takes millions of years to renew
(c) Available in very large quantity
(d) Are called exhaustible resources

ﬁﬁ%@ﬁﬁmﬁﬁﬁ?—ﬂtﬁmwma?ﬂwﬁwmaﬁ
g BN

(@) enfcas s/ gemor 9 B &1

(@) daexe & forg @t af o €

(M) d9gd S A3 | SUA € |

(@) a8 sFdai TErE wEe ¥

Correct and rewrite the given statement.

Resources are essential for- development -and their mere presence
guarantees development.

ﬁqwmmzﬁrmaﬂiﬁgﬂ forfRam |

Wﬁmzﬁmwéﬁweﬂaﬁwﬁmﬁmﬁﬁmﬁqaﬁ

MRS B |

Fill in the blank with the most appropriate option given below.
Population becomes human capital, when investment is made

(@) Buildings and dams

(b) Health, Education, Skill development
(c) Factories, I‘nstitutic_)ns, transport

(d) Industries, agriculture, MNCs

VIl SOCIAL SCIENCE 2



Q.5

Rert I @ 9ff < Ry 0 Riwedt § § qae Sugw Ree ¥ DR |
S [ 4 fawr fobar ST & A SeEEn Mg gol a9 o

(@) wad AR il

(@) e, R, aiva Qe
(M) HREM, Fwerd, aRae

(@) ST, B, agRsty wf

There are’two statements marked in the question given below, as

‘Assertiorr (A) and Reason (R) Read the statements and choose the
correct option:

‘Assertion (A) : Population is always in a state of flux.
‘Reason (R) : The growth of populatlon is affected by the birth rate, death

faté and by the Iarge Scale migration.

Option :

(a) BothAand R are‘true, and'R is the cofrect eXplanation of A.

(b) BothA'and R aré‘true, but R is not the correct explanation of A.

(c) Ais true, but R isTalse.

(d) Ais false, but R is true.

A T g we # < et @1 Sifiepe (A) 3k IR (R) 3 WY ¥ Rifeg
foar T 8| Ul B ufey 3R Fel feey o1 = B |

AMBAT (A): TEET &g TaTE B Ry F wEd |

HROT (R): e 3fg a5 THM W yar, a'ga?aﬁ?ma?ﬁwﬁa
il B |

fame:

@) (A)3R (R) I ¥ &, 3R (R) (A) & & @ 2|

@) (A)3R (R) aFl ¥ €, afbd (R) (A) B 98 == =181 2|

M (A)F& ?, AfeT (R) Tord 21

@ (A) e 2, A (R) W &

(1)

(1)
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Q.6 Define Literacy Rate.

WTETRET X BT aRify i | (1)

Q.7 Identify the odd one out.
(@) The Bombay Times ~ (b) Anandmath
(c) My Experiments with Truth (d)  Unhappy Indians
F=famet # & B Rew veart| . (1)
(®) I e (@ e
() ¥ & W R g @ g WA

Q8. Amrita Bazar Patrika was originally published in which of the followmg
vernacular languages? |
(@) Punjabi (b) Marathi
(c) Bengali (d) Sanskrit
meﬁaw@mﬁﬁMWwﬁw@a@aﬁ (1)
(@) Ul (@) W
(T) dmen | (@) wwpd

| Q.9 Which were major events of the twentieth éentury?

(a) Partition of Bengal

(b) Establishment of INC

(c) First War of Independence
(d) Jailianwala Bagh Massacre

Choose the correct option:
(i) Only(a) & (b)

(i) Only (b) & (c)
(iii)  Only (b) & (d)
(iv) Only (a) & (d)
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Q.10

et /S B g ey B & o
(@) e &1 e

(@) LT B R

(M) A=A B BT Ig

(&) SIfRNaTT 91T REER

e e 7o -

() @ @) iR (@)

(i) aa (@) R ().

(i) A (@) R (@)

(v) @aa (@) R (@) Yy 4
Arrange the following events in the chronological order of thelr occurrence

during the Revolt of 1857. '

(@) Mutiny of soldiers in Meerut Cantonment

(b) Mangal Pandey refused to use the cartridge |

(c) The sepoys captuféd the city of Delhi

(d) British military dfﬁbers freed Delhi

Options: il ’
(i) (@), (b), (d),(c) ) (b), @) (c), (d) -
(i) (c), (b). (a), (d) ) (@) ©) ©), @)

ﬁﬂﬁrﬁaﬁaﬂaﬁﬁﬁmﬁﬁﬁﬁg?ﬁaﬁ?ﬁaﬁﬂﬁﬁaﬁraﬁnﬁaﬁ
& BIel HH STAR FaReyd o |

(@) *Rc BrEdl 4 D $1 fAgE

(@) W U N PRI BT ST B TIOR X a7
(M) RymfEar 7 el B W Fearr R fora

@) ffew I @R 7 fieeh @ 9o o=

- faPpey -

(
(i) (). (@), ). @) (iv) (@) (). @) @) (1)
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en below, as

Q11 There are two statements marked in the question givd choose the

Assertion (A) and Reason (R) Read the statements an
correct option:

Assertion (A) : The British were practicing the policy of divide and rule to
weaken the nationalist movement.

Reason (R) : Home Rule League was formed in 1907 by Aga Khan and
Nawab Salimullah Khan. ,

Option : | |

(@) Both Aand R are true, and R is the correct explanation of A
(b) Both Aand R are true, but R is not the correct explanation of A
(c) Aistrue, butR is false.

(d) Ais false, but Ris true.

1 R Ty o 3 <) por 1 aifte (A) iR BT (R) @ W H e
fobar T 2 | HR B afey ek W fiwew & 9T AT

e (A): TS S B TR B B R IS BE el R
ST BRI DI N 3991 2 I |

&R (R): ﬁﬂw@waﬁwwwﬁmaﬁeﬁ?ﬂamﬂ?mm
Qe o @ |

faemen:

() (A)Sﬁ'\’(R)ﬁWg,sﬁ?(R)(A)ﬂﬁ HE! AT & |

(@) (A)3IR (R) 3 w5 &, fe (R) (A) &1 W) e T & |
@M (A)FE &, AT (R)Terd 81

(@) (A) e 2, dfd (R) WEl & |

Q12.  What action did the British Government take under the martrial law in
- Punjab?

fafeer wreeR 3 doma ¥ el off & T T pea A o (1)

Q13.  Which one of the following options is NOT a basic feature of India’s
Foreign Policy?
| (a) Regional Cooperation, Panchsheel

(b) Alignment, Colonialism, Imperialism

VIIl SOCIAL SCIENCE 6




Q14.

(c) Friendly Co-relations with Neighbours
(d) Promotion of World Peace, Panchsheel

ﬁwﬁr@aﬁ@aﬁ?—mﬁmwaﬁﬁ%ﬂﬂﬁaﬁﬁa@ﬁﬁw
T8l 27

(@) & FEanT, g

(@) g, Iufaemare, SEregare

(M) SR @ wrer Yo we—wdy

(@) fiwa wify & qom@r 3, do "

Identify the most appropriate statement regarding the Preamble of the
Indian Constitution from the following options:

(@) Itis judicially enforceable

(b) Itis the Soul of the Constitution

(c) Itis a feature of the Constitution

(d) It has religious philosophy

ferferRan fadedt & A ard dRu™ @ wxdE @ dey § e T@
ST BT TEET PY |

@) uE AE BT X A P A R

(@ v' | @) o B

(M) I8 wfwm B ygE L 7

(&) o e g9 B

Choose the most appropriate options according to the given statement.
Secularism is important for India for the following reason(s):

(a) It safeguards democracy

(b) Enables us to live in harmony

(c) Limits the Power of minorities
(d)

d) Protects the rights of the majority
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Q16.

Q17.

Option :

(i) Only(a)

(i)  Only (b)

(iii) ~ Only (a) & (b)
(iv) Only(c) & (d)

ﬁqwm$mmwﬁm/ﬁmmwﬁm|
SPRYERT WIRT 3 Ry e sRol @ A 8- |
(®) uE ABAT P &M FRA B

(@) = woua W e A wem T 2

(M sredersl @ wfew B @ B )

(&) «gFa @ ARBRI P e B B

IEET

) @I (@)

i) wIa (@)

(i) P (@) AR (@)

(v) @ () 3R (@) v

Correct and rewrite the foIIowingusrtétement

The Parliament is empowered to remove the Prime Minister and Judges
of the Subordinate Courts. The procedure adopted for this purpose is
called Impeachment

RrfoRgd BUF BT 1P B QaRT faIRay |

waﬁwmsﬁaﬂ?mﬂﬂwwzﬁmwmﬁaﬁmwaﬁmm
3| 5w SRw @ forg A T AT 31 FRIRGT dEr S 2| (1)

Which one of the following statements is correct with respect to the
speaker of Lok Sabha ?

(a) Lok Sabha Speaker can adjourn both the Houses

(b) Presides over the joint sitting of both the Houses

(c) Performs the duties of Rajya Sabha Chairman

(d) Presides over the meetings of both the Houses

VII'SOCIAL SCIENCE 8



Wﬁmﬁﬁﬁﬁﬂwamaﬁmwmafbﬂ?ﬁﬁﬂﬁ%‘?
(@) BT STy ST el B IT PR HbT |

(@) <l B HYAT doF DY FEIET bl 8 |
(M) RTSOET & IR @ Peiedl Bl greld HRal o |

(8) . qFI WA B JopT P Seerar BT 2 | (1)
Q.18  Fill in the blank.

President is the head of the state and................... is the head of the

union government.

R wm @1 gftf #ifdg

"UEAfd QI BT RIAT BT R I T WRER BT FRar

BT B (1)
Q19.  Fillinthe blank:

The civil cases are related to disputes LT COTSRRRNT- ' NS

R v w3

CIELG L2 S & fae ¥ IS B B

OR (sferan)
ORI .

The criminal cases arerelated to offenceslike.......................... and.............

TIGTGTRT HBGH oo S SR @ S B 2 (“a+72)
Q20. Who decides whether the accused is guilty or innocent?

(@) Police

(b) Court

(c) Victim

(d) Government o
g <6 & @ FIT, gwat fof B9 axar 82
(@) gfers

@) =™
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Q21.

Q22.

Q23.

Q24.

- Q25.

()
&) wweR

Section - B (@S @)
Suggest any three measures for efficient utilisation of resources.
B HHEE SUART B forg @i O gemg ARG

OR (3teran)

State any six factors on which utilisation of reeoerces depend.
@awﬁmmmmmmﬁwwm%'

How did the Br|t|sh rule affect the rights of tribals? Give any three
examples.

mw#mmmemﬁwﬁamwm
N1kl SRTET faforg |

OR (3feran)
Name the movement started by Birsa Munda. How did Birsa motivate his
people?

ﬁwgmmgﬁmwmwwﬁmﬁwﬁmmﬁ
fr g AR faar?

Explain any three dlfferences between Ryotwan system and Permanent
settlement.

W@mmwmemmmwmm.

Why did India opt for democracy? Write any three reasons.

ara 3 Sads o1 e @ g FE A R frRag

Assess three importance of Fundamental Rights in our day-to-day life.

o 3 S § Aers aRiE 3 S T BT e B

10

VIl SOCIAL SCIENCE




Q26.

Q27.

Q28.

Compare the two Houses of the Parliament on the following basis:
(@) Composition

(b) Tenure

(c) Financial Powers.

frr=ferRad MR o) WHg @& <H WaH! BT JeATHD GO DI |
(@) WIS '

(@) dEdE

(m) fexira wrfeemt |

OR (31eram)

Name the three organs of the union government and write one function
of each organ.

G WRER B A o & 9/ T YAF 3T BT (H—Yh P {ARIT |

Name the different courts of Indian Judicial system in hierarchical order.
Write one feature of each. : :

IRA S gomelt & faf <marerl & w9 useeArgaR fafay aen
TS ATl &) U fa9Ivar &1 Ieaid B |

Section - C (&S )

Read the source given below and answer the questions that follow:

It has been observed that in European countries, the number of females
is more than males. Thus, Europe has a high or favourable sex-ratio. The
rising sex ratio has been recorded since the early 1980s and has since
then continued to increase with no signs, of reversing. In India, the sex-
ratio was recorded as per 943 in 2011 which has declined from 972 as

recorded in 1901.

9 fg 7T G P 0 &R A R TRl @ weR

Ry & 390 A 7€ <@ T © Sl B wen ol 9 afte €, g
HRY R F Fed IR U 1 1980 B TUD D ART W ded
fefmar &1 & fhar T # ok 99 | FRER gfe &1 R o 8 | 9K #,
2011 % foTTaTT 943 ot o 7T o i 1901 § 972 o, W1 fob ¥ o7 |

(3)

(4x1A)_
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Choose the correct option as the answer.

Q28.1  ‘Sex Ratio’ is the ratio- between the
(@) number of males and females in a population
(b)  number of females and children in.a population
(c) number of married females and unmarried females

(d) number of females and total population

Frefomen fided # ¥ wé s > v ¥ o Rwe I
oI @7 aref 2 |

(®) SR Akl @ W o qedt @ e § g

(@) ST 4 st @ v sk = B e § S

(m) oo wfeenst sk sfdarfza wRensl @ wer § AT

(=) Wﬁmﬁﬁm@mﬂﬁw

Q28.2  In Asia which country has the highest Population |

(a) Pakistan

(b) India

(c) China N

(d) Japan p |

Prferias & & Rt 291 A e TRE § W 87
(®) e a
(@ W
(m =
(@) S
Q28.3 Which one of the following is included in ‘Dependent Population‘?
(a) Children between 10-18 years
(b) Children below 15 years

(c) Unemployed youth |
(d) Old people below the age of 55 years

VI SOCIAL SCIENCE 12




frferaT & @ 5w a1 ‘anfirg s e R S 22
(®) 10 9 18 A & q=a| Py
(@) 15 9 9§ BW AY B Fe@ B
(M RR gawi B
(@) 55 99 9§ B9 oY B gg A B
Q28.4 Identify the Indian state with the highest sex ratio in 2011
(@) Kerala
(b)
(c) Karnataka
(d) Tamil Nadu

2011 # IeaaH iU a1l IR ST B gAY |
(@) v

(@) sRamn

(m @es

I EERIS

Q29. Read the source given below and answer the questions that follow:

On March 12, 1930, Mahatma Gandhi began his epic Dandi March. He
was accompanied by 78 supporters. They made salt from sea water and
broke the law. Salt Satyagraha was on open challenge to the British and
Civil Disobedience spread all over the country. It became the second
mass movement as schools, colleges and courts were boycotted, foreign
goods were burnt; peasants refused to pay taxes, and shops selling

foreign goods were picked.

4 Ry v W 31 98 R AN ol we B SRR 9

12 1 1930 @1 FETE T A o A <L A g fbAr| oD
|77 78 TS o | SR WHE @ UM @ TG FA1 3R BT el | TAD
FemTE st AR X 39 § Bol ATy s @ fow v el gekh o |
% ORI O SeTe 4 T i W, Plersii AR JfeTerd BT aEHR
Rt e, RS e @Y S T, e ¥ a3 | TR B e
AR e S FE 9l g1 W gReT fear T

Haryana
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Q29.1

Q29.2

Q29.3

Yot UL GCIENCE

Choose the correct option as the answer.

‘Salt satyagrah’ was launched to
(@) reduce the price of salt

(b) increase the availability of salt
(c) disobey the British rule

(d) Create employment

frfoRed fwedt § ¥ wd ) @ wy 3§ v fawe gAT!

T GAWE Y% T T e

(®) T9P o BT B I D Ry

(@) 9P $ Iue=ET I3 B v

(m fafeer ReR A e 7 77 @ for
(@) AR e B R |
Dandi March was started to -

(@) break the salt law

(b) strenghten the congress party

(c) help the salt workers
(d) Create awareness about environment

<€ e 3o foan T o1 —

() o P A B fore

(@) ®iIa g B ANy, PR B forg

(r) E S A @ aErE &

(@) uataRer @ 9T STl Ua B @ fow

Who led this movement in the North West Frontier Province?

(a) Jawahar Lal Nehru
(b) Mohd. Ginnah

(c) Sardar Patel

(d) Abdul Gaffar Khan

14
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Q29.4

Q30.

Q31

- HRI 1 4 o e v g e fA 92
(®) AR A T

(@) #E=e R

(M) ¥ER Tea

(&) gl TR WH

Dandi March started from -
(a) Khadi Ashram

(b) Surat
(c) Sabarmati Ashram
(d) Dandi

IS AT BT URA P W gar
@) @ o @

(@) W@«

(M) e S R

(@) <<

Section - D (&S ®)

Water is an indispensable resource. Suggest any five ways by which
this resource can be conserved.

wawﬁgrﬁwmélaﬁ’s‘@wmw ﬁrﬂ?ﬁmsﬂ
Waﬁw@lﬁmwm%‘l ' - (5x1=5)

OR (37eran)
Suggest any five methods to conserve soil.

qﬂﬁ?wa%aﬁs‘qfaaﬁ'cﬁwl

“Temperature and rainfall affect the growth of plants” Support the glven ‘
statement with five examples.

- @i, oY 9 gfy @) wiRd aRa & 1 uig SereRe @ e (9%1=9)
¥ T B g B |
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Q32. Analyse any five reasons for the failure of the Revolt of 1857-
1857 % faRTe @ Rwerr & At ife et 1 fgeior AR
~ OR (31eram)
Analyse any five reasons responsible for the revolt of 1857
1857 @ RIEE B forg wereard Rt wia il 1 R PR
Q33.  Highlight any five provisions of the Indian Constitution that establish India
as a democratic, socialist, secular sovereign and republic. . -
T WM & 99 uig gt @ soR $fw o AR BT
SADBITNep, THITTS, Sifrder i sy, ToRTT & wa ¥ RN Y ¥ |

(5x1=5)

OR (3feram)

Highlight any five Purposes which the Constitution of lndla serves to
strengthen Democracy in India.

mewﬁwaﬁwma%ﬁwmwm@ﬂ =5)
B el @ram 2, 5 SR #ifvTg |

Q34. Explain any ﬁve powers of the President of India.
TR & I B PIS Ui Al € BT | | (5x1=5)
Section Js-E (s :cr-)
Q35.(A) Two places Aand B have been marked on the given outline polmcal map

of the world.
Identify and write their correct names on the lines marked in the map (2x1=2)

(a) Aregion of low rainfall in Africa

(b) ' A type of forest

On the same outline political map of the world Iocate and label the
following:

(c) Aregion of high rainfall in South America

~ (d) Aregion of Tropical Evergreen Forests in Africa (2x1=2)

VI SOCIAL SCIENCE ‘ 16




P

?%?mwmmmmﬂﬁaﬁﬁwmAaﬁvsmm

e ¥ offt Yo o T W gt R R

(@) IWIBI H BH a9l qrer &5

(@) o BT TH IR \
'S TR R Rva & o A w frEriRed 1 gdr o 3R
Aqe B

() a@waﬁﬁmﬁmwwm

(&) il 3§ IWThfeddy YeEER ahf B &7

Q35.(8) Onthe outline poIificaI map of India, locate and label thé following places:

Q35.1

Q35.2

Q35.3

(4) The place from where the sepoys broke out into'an open revolt on
May 10, 1857.

(b) The place from where the call for Swaraj was made in Congress (2x1=2)
Session of 1906.

mﬁa%mﬁa?qm%aﬁWWﬁrﬁrﬁ@Hmzﬁrwm
3R I d9d P

(@) @€ W wEf ¥ 10 HE, 1857aﬁmﬁﬁﬁ'w@wﬁﬁgﬁmml
(@) agwﬁm%*rmgoea%a?mﬂsﬁmﬁwzﬁrmﬁmwml

Alternative Question for Visually Challenged Students
in lieu of Q. No. 35 (A)

m'\qwss (A)a}wwq&mﬂﬁm%m%ﬁ-ww

Which region in Africa gets low rainfall?

i @ frar & o oW Al g 87

Name the type of Forest in found in West Coast of India.

e @ SR qe § T WM ard @ b PR P A fefav |
Name the areas of high rainfall in South America. |
<oy arifReT ¥ afyad aut arel &t & A fefa |

17 VIII SOCIAL SCIENCE




e

fidd Q354 N
ame any one country in Africa that has Mediterranean Forest.

SHIDT A AT T B Py T g7 B A SasC |

Alternative Quesiton for Visually Challenged students
in lieu of Q. No. 35 (B)

W W@ 35 (B)a%mwg&aﬁamﬁf*maaiﬁ” e
Q35.1  The place from where Mangal Pandey revolted. |
IE WA TRT W HT woe - Rigs far o)

Q352 - ‘ e Jallianw
2. The place where Jaflianwala Bagh Massacre took place.

a8 R TR Sferdiara qrT scThis gl o |

18
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MAP FOR Q_UESTION NUMBER 35 (A)

ROLL NUMBER

QUESTION NO. 35 (A)
W POLITICAL _

L : . i ’ © Government of India 2022,
1. Based upon Survey of India map with the pérmission of the Surveyor General of India. Copyright,

2. The taritofial waters of ndia exiend Into the sea to & distance of twelve nautical miles d from the appropriate basel INDMNBOOKD‘EPOT(NAPHOUSE)'
1mmawmrymmumammmmun»apwwmumdmmcowmmwwmmam Dehra Dun. 2907, s:mmmoowqmoe
. e -mall: info@ibdmaphouse.com

Vide Latter No. T.B. 409/62-A-3/213 Dated!3/3/2003. . b
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MAP FOR QUESTION NUMBER 35 (B)

ROLL NUMBER. ......ccoevmrerrnnerncnnsacensesanns

QUESTION NO. 35 (B)

) —
i INDIA - POLITICAL AND ADJACENT COUNTRIES I e i agied o |
i
§
.%

b P SN et
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